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EELTWET, FM6FEL, HEMZR 4 9MHHD S5 2 6 MAIMHDIREZEREL. TOHE

ERDEHYTT,
== <A %2z Rhr | &
Ry | msEm | 0 | wEFH | pEEg | Famy | TLEF | FHEE
£ A 119 264 2,486 5, 888 112 1.9% 5,553, 320
FRTEI5F 98 206 269 2,894 86 3. 0% 3,979, 817
£t 217 470 2, 755 8,782 198 2. 3% 9,533,137
RE 260, 968
At 217 470 2, 755 8,782 198 2. 3% 9,794,105
(1) THHREEE &EERUFRESH)
7  RigRIERE
P [Ty PERUVELY =1
25 | B | Py | BR [ RABE | @@ | TORM | @R | AR
BE | @% [=| 8F | A% |=| & | A% |=
& F ™ 10 179 401 10[2.5] 135 4[3.0] 536 14[2.6
T T 11| 163| 251 6l2.4] 199 0lo.o| 450 6/1.3
&= B ™ 10 177 305 8[2. 6 83 0lo.o] 388 82. 1
B B 15 180] 793 25(3.2] 192 0{o.o] 985 25(2. 5
1B il 16| 164| 416 16[3.8] 323 11o.3[ 739 17|2.3
m O E W 18| 333 694 21(3.0] 339 0[o.0| 1,033 21[2.0
#ioW 7| 140 393 11[2.8 27 olo.o| 420 11[2.6
N F R ™ 9| 142 303 12(4.0 69 olo.o| 372 123.2
S N ] 5 127 250 401.6 46 0/0.0] 296 411. 4
N % T 6| 117 217 10(4. 6 77 0lo.o| 294 103.4
B H 8 74 154 6/3.9 68 0/0.0 222 6]2.7
E B wW 4 74 198 412.0 16 2|12.5] 214 6(2.8
F W ™ 15|  216] 449 14[3.1] 348 olo.o] 797 14[1.8
W ® 9| 146 359 1[3.1] 113 olo.o| 472 112.3
AHEBET 6 86| 178 6]3.4] 122 0jo.o] 300 6/2. 0|
5 T49] 2 318] 5,361] 164]3.1] 2, 157 710.3] 7,518] 171]2. 3]
ERELD 3 17 44 0[0.0 18 0[0.0 62 0[0.0
- AES T 4 32 107 2(1.9 11 0/o.o] 118 2(1.7
Y TN 7 49 151 2(1.3 29 0[0.0 180 2[1. 1
A+ A EHE 5 49 70 0[0.0 35 0o.o] 105 0[0.0
E% = W m| 8| 38 12|  slas| 11 olo.o] 153|  5[3.3
2 |12 S ET 6| 75 175 5l2.9] 49 olo.o| 224 5[2.2
TN 19  162] 387 10[2. 6 95 ofo.o] 482 10[2.1
— = M 2 21 44 1]2.3 11 0[0.0 55 1]1.8
BE R HT 4 17 38 112.6 0 0[0.0 38 1]2.6
EIR £ # 2 22 32 1031 21 0[0.0 53 1]1.9
£la F BT 5 78] 129 6|4.7 82 0lo.o] 211 6/2.8
ME & B 4 26 63 213.2 6 0[0.0 69 2|2.9
£ & H 3 28 48 2|4.2 57 0]0.0 105 2(1.9
N B 20  192] 354 13[3.7] 177 0[o.o] 531 13[2. 4]
B 46] 403 892 25[2. 8] 301 0J0.0] 1,193 25]2 1]
STERERT 22 34 60 2[3.3 11 0/0.0 71 2[2.8
At 217] 2,755] 6,313] 191]3.0[ 2,469 7]0.3] 8,782  198[2.3
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A ZRIERIRME

S= LA MR 3R
HEBA wEm | Ttk j:fm | ThEE
BRI, Y 3,936 152 137 T 1 3.9
FHXRVCA 0 0 0 0 0 0.0
ZHMFHIEN Y 13 0 0 0 0 0.0
BT Y 15 0 0 0 0 0.0
ZOHDOFERIEN Y 426 9 6 3 0 21
FhztEmy 1 884 30 22 7 1 16
FERERHAIENY 37 0 0 0 0 0.0
ZDHDEREIEN Y 7 0 0 0 0 0.0
it 6,313 191 165 21 5 3.0
Y 271 0 0 0 0 0.0
TEHLY 32 0 0 0 0 0.0
TRELL Y 2,166 0 0 0.3
it 2. 469 0 0 0.3
&t 8. 782 198 172 21 5 2.3

7 FEREE
X5 RIEE R2EEE RIFEE RAZEE ROFEE R6FEE
BREAK 181 192 185 196 201 217
BRERHK 2.443] 2,884  2.381]  2.694]  2304] 2 755
" BEER 5303]  5.956| 5535 6 111] 5522 6 313
s R 89 99 101 86 149 191
Y F&HEE (%) 1.7 1.7 1.8 1.4 2.7 3.0
N BEER 2.403]  3.066]  2,215]  2.695|  2.034] 2, 469
i REHEH 0 0 0 3 0 7
= F& 4 (%) 0.0 0.0 0.0 0. 1 0.0 0.3
N BEER 7.796]  9.012]  7.750]  8,806]  7.556| 8,782
g P PTE 89 99 101 89 149 198
i F& 4 (%) 11 11 1.3 1.0 2.0 2.3
BEFHH (H) | 7.971.004] 8 527,089] 8 509,023 9,126,933 8, 772, 390| 9,533,137
e AT AT 17H768T 15T,g¢°m 17H76RT 15T,g¢°m 17H76RT 15?;,[0”
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(2) RERERE
7 RERIEE

(9] SERVOELY =F
zs | B2 | BE Tgg [ 7ok® | mm | TARE | @g | FABE
BE | mx (x| BE | Ay (=] BE | B@x =
% F 6| 165 297 401.3 83 414.8] 380 8]2. 1
fE W ™ 8| 151 236 6(2.5| 188 0{0.0] 424 6[1.4
Z KR 5/ 165 238 41.7 26 0{0.0] 264 401.5
B B h 8 160 505 12(2.4 149 0{o.0 654 12|1.8
1B il 6 135 242 712.9 151 0{o.0 393 711.8
m R 11 310 47 8|1.7| 148 0/0.0] 619 8/1.3
oW o 5 134 330 8|2.4 22 0j0.0[ 352 82.3
N F K 4 132 233 913.9 47 0{o.0 280 913.2
X% F 4 123 198 3|1.5 46 0{0.0] 244 31.2
fm #@ ™ 4 113 179 9(5.0 35 0{o.0 214 9(4.2
B H#H 2 62 94 212.1 5 0{o.0 99 2(2.0
E B W™ 2 70 123 3(2.4 5 0{o.0 128 3(2.3
F W ™ 8| 180 287 6[2. 1 199 0{0.0] 486 6[1.2
w ® T 5/ 136 269 702.6 84 0/0.0] 353 712.0
KB B 3 80| 119 514.2 47 0]0.0 166 513.0
H 81| 2,116| 3,821 93]2.4] 1,235 4{0. 3] 5, 056 97(1.9
En B R SHHET 1 15 28 0fo.0 0 0{o.0 28 0]0.0
A ES T 1 26 50 112.0 11 0[0.0 61 111.6
BTN g o a1 78 s 1 olo.o] 89 111
N+ A EBHE 3 46 65 0fo.0 29 0{o.0 94 0fo.0
Wis u mr 1| 22| 5 2.0 5 olo.o| 56 11.8
%E’fﬁ*z*ﬁ'ﬁﬂn 3 64 113 2|1.8 24 0j0.0[ 137 2|1.5
INF 7 132 229 3(1.3 58 0{o.0 287 3[1.0
— = H 1 20 42 112.4 6 0/0.0 48 112.1
BE JR HT 1 13 26 113.8 0 0{o.0 26 113.8
R £ 1 18 22 0[0.0 5 0]0.0 27 0[0.0
£18 F B 2 69 110 413.6 71 0/0.0 181 412.2
Bl wma| 1| 22 4 izl 6| oloo 47 1|21
& M M 1 21 31 2(6.5 25 0/0.0 56 2(3.6
INET 7 163 272 913.3 113 0{o.0 385 9(2.3
it 16 336 579 132.2 182 0{o.0 761 13[1.7
FTERER 22 34 60 2(3.3 11 0/0.0 71 2(2.8
& &t 119 2,486| 4,460 108(2.4| 1,428 4{0. 3] 5, 888 112(1.9

_15_



1 #RERIEE

\A AN 3
HEns wEw | At Tj:fm | ThE
BERIE,Y 2. 682 03 80 10 3 3.5
EHECA 0 0 0 0 0 0.0
EMEHEHY 1 0 0 0 0 0.0
By 15 0 0 0 0 0.0
ZOBOEBREAY 237 7 0 7 0 0.8
FhstEmy 1,480 13 10 3 0 0.9
FHETHAENY 33 0 0 0 0 0.0
ZOHMOIERIEN Y 7 0 0 0 0 0.0
e 4, 460 108 90 15 3 2.4
Y 236 0 0 0 0 0.0
TEHD Y 32 0 0 0 0 0.0
TEESDY 1,160 4 4 0 0 0.3
e 1,428 2 2 0 0 0.3
e 5. 888 112 9 15 3 1.9

D FEEREE
K% RIZEE | RVEE | RIEE | RAGEE | RSGE | R6EE
BREBN 103 116 100 114 105 119
BRERN 2253  2.652|  2,176]  2.528]  2.106| 2,486
n BEEN 3.766|  4,403|  3.815] 4354  3.649] 4, 460
13\ R 52 62 61 65 96 108
Y FEHEE (%) 1.4 1.4 1.6 15 2.6 2.4
2 BEEN 1.708] 2123 1.448]  1.726]  1.279] 1,428
B FamK 0 0 0 3 0 4
= REHE (%) 0.0 0.0 0.0 0.2 0.0 0.3
R BEEN 5 474]  6.526|  5263] 6080 4 928] 5 888
g R 52 62 61 68 96 12
] REHE (%) 0.9 1.0 1.2 11 1.9 1.9
BREFHH (D) 4,290, 530( 4,970,640 4,521,780| 5,220,750 4,638,290( 5,553,320
e AT AT 17H768T 15T,g¢°m 17H76RT 15T,g¢°m 17H76RT 15?;,[0”
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(3) FAIGAIRERE
7 RiERIEE

(9] SERVOELY =F
zs | B2 | BE Tgg [ 7ok® | mm | TARE | @g | FABE
BE | mx (x| BE | Ay (=] BE | B@x =
% F 4 14| 104 6(5.8 52 0{0.0] 156 6[3.8
fE W ™ 3 12 15 0[0.0 11 0/0.0 26 0[0.0
Z KR 5 12 67 416.0 57 0{0.0] 124 413.2
B B h 7 20 288 13|4.5 43 0{o.0 331 13]3.9
1B il 10 29 174 9(5.2 172 110.6 346 10[2.9
m R 7 23| 223 13/5.8] 191 0{0.0] 414 13]3.1
oW o 2 6 63 3|4.8 5 0]0.0 68 3|4.4
N F K 5 10 70 3(4.3 22 0{o.0 92 3(3.3
X% F 1 52 111.9 0 0/0.0 52 111.9
M @ T 2 38 112.6 42 0]0.0 80 111.3
B H# mm 6 12 60 416.7 63 0]0.0 123 413.3
E B T 2 75 111.3 11 2|18.2 86 313.5
F W ™ 7 36| 162 8l4.9] 149 0jo.0] 311 8l2.6
w ® T 4 10 90 414. 4 29 0lo.o| 119 413. 4
KB B 3 6 59 111.7 75 0{0.0] 134 110.7
H 68 202] 1,540 71(4.6 922 3[0.3] 2,462 74(3.0
En B R SHHET 2 2 16 0fo.0 18 0{o.0 34 0]0.0
A ES T 3 6 57 111.8 0 0/0.0 57 111.8
BTN g 5  RE 14 18] ofoof o 111
N+ A EBHE 2 3 5 0]0.0 6 0{o.0 1 0fo.0
Wis u mr 7| 16| o 4l4.4 6 ofo.o] 97 4l4. 1
%E’fﬁ*z*ﬁ'ﬁﬂn 3 11 62 34.8 25 0]0.0 87 3|3.4
INF 12 30 158 7(4.4 37 0{o.0 195 713.6
— = H 1 1 2 0[0.0 5 0/0.0 7 0[0.0
BE JR HT 3 4 12 0fo.0 0 0{o.0 12 0]0.0
R £ 1 4 10 1]10.0 16 0/0.0 26 113.8
18 F B 3 9 19 2[10.5 11 0]0.0 30 216.7
Ble @ 3 4 22 114.5 0 0/0.0 22 114.5
& M M 2 7 17 0[0.0 32 0/0.0 49 0[0.0
INET 13 29 82 4({4.9 64 0{o.0 146 412.7
5 30 67 313 12|3.8 119 0{o.0 432 1212.8
= 98 269] 1,853 83|4.5] 1,041 3[0.3] 2,894 86(3.0
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1 #RERIEE

\A AN 3
HEns A T i j:;m | ThE
BEIEMY 1254 59 57 1 1 47
EHECA 0 0 0 0 ol 0.0
ELMFEEAY 2 0 0 0 ol 0.0
By 0 0 0 0 ol 0.0
ZOROEBR I, Y 189 7 6 1 ol 3.7
FhxEny 204 17 12 1 1 12
FaRERGAED Y 2 0 0 0 ol 0.0
ZOOEREN Y 0 0 0 0 ol 0.0
e 1853 83 75 6 2 45
Y 35 0 0 0 o 0.0
EEHLY 0 0 0 0 ol 0.0
ERELLY 1,006 0 ol 03
e 1041 0 R
Bt 2894 86 78 5 2 3.0
7 EEREE
% RIZE | ROEE | RIEE | REE | ROEE | ROEE
BREAN 78 76 85 82 96 08
BEPH 190 232 205 166 198 269
" REEN 1537 1553  1.720]  1.757]  1.873]  1.853
7’3\ REtH 37 37 40 21 53 83
Y FEHEE (%) 2.4 2.4 2.3 1.2 2.8 4.5
N REEN 785 933 767 969 755] 1,041
B Tawm 0 0 0 0 0 3
= REHE (%) 0.0 0.0 0.0 0.0 0.0 0.3
R REEN 2322]  2.486|  2.4871]  2.726] 2,628 2 894
8 REtH 37 37 40 21 53 86
] REHE (%) 1.6 1.5 1.6 0.8 2.0 3.0
BEFHHE (M) 3,680,474 3,556,449 3,987,243 3,906, 183| 4, 134,100| 3,979,817
e AT AT 17H 58T 15T,g¢°m 17H 58T 15T,g¢°m 17H 58T 15?;,[0”
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